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SECTION-A

I " Atterlpt all questiori. All questions can]' eqiral ,ntarks.:

t2* i 0_-20)

(a) State yarious Compclnents of' e single peakeci

hydrograph.

(I:]) Ilxplain Hycirologicai systent.

(c) Differentiate bef*,eel} PET & AE'I'.

{C} H,xPlain \\i 
'51 # inCc,x.

ie i Stats: viiri*us tvp*s cf' Ilre'Jipitation.

(t) I-ist ffirothacls of eofilputing rulloff from a

oatch{:lsnt..
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(s) List various rnethorJs oftrrrigation.

(h) Explain rvell losses and rvell shrcuding.

(i] Explain syntirctic imcl s h3,drorraph.

i) Wirnt ars th$ various lilr:titods clf \!'ell developntept'J

SHCTIGN-B

Atf*:rnpt ar:v fiv* of the foliorving. ( 10 x 5-50)

2. trVirat is the coiicept of'ri\,ier trainingi' b,xplain river
freining fbr tiisciiarge, cieprhs ancl sedi*lcnls. l,ist various

f-pes r; f' riv*r" traingin g \vork s.

3. Whar arc the varitltts tirct{}is gr)verning t}re seiectiol 9f
suitahtr* sit* *f' ri' I'ui:c-rveii'j

iliiftrenrint.* betu,csn Kemedrv's end Lacey's theory. filr
il*sisli of ailuviulr: e hiinnrls. [ixplain defrt-:ts in l,accy's
ih**ry.

Desigil e *hann*i s**ticin ur;ing Kennec!),'s theory lbr a

cisci:a-rge o{' 4 5 cLrille*s" take Kuffier's coe fficient,
N:{}.iJ223, C.V"R.frri: I ,05. sice sicpe==0.5Fl: l V Iled
slapc*-i in SClLlt].

\\iriti: sticri n*tf,s ili-] I-,*sccticn anci X-section oJ'a *anai*
{iarr*t=s diagram. initia} at:il final regirr}e of a channel,
aqui i cr" enei ilclro:ii [r'.
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'/ . Calculate the numher q:f days aft*r rn'hich the r,vater has

to be supplied tc the soil in order to ensure sufficient
irrigation if:

i Fielcl capacitS, of the soil is 2896.

ii. Per:nanent wilting point is l3a/o.

iii. Dry densiry of soil is I .3gix/cc.

iri Effective rJepth *f root zone is 7*cm.

v. Daily coitsurnptive use cf 'ovater {br given

crop is I Zmn:. Assurne optinlum soii

moisture as

80% of available mcisturs.

8. The Rase period, DuU at the field and tiie A-rea under the

crop under a Distributory taking cff from a rsservoir

are given in table below. f-aking canal losses as 10-96 and

resenroir losses as 1 So/a,compulte the resenroir capacity.

CRCP
BASE PERIOD

(da ys)

DUTY ATTHE

FIELD

(h a/c u ri'l ec s )

AREA UNDER

THE CRo P {ha}

Baj ri

Cotto n

Rice

Whea t

124

200

124

120

2000

1400

900

18m

1.500

14 00

40r)0

5800
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V " (i) What is an Outlet? fixplil'in r';iri(ilis t)'pes rrf t:uti*is

u,ith exiullpies nnti slet*hes.

(;i) What are verious rrJgrilaticn ir'ftrks in clliiffi:;?

E>lplain about ttie trocation ofltaiis iinii varifiilx;q *'ilcs
of fails.

SECTHCItY-C

Atternpt any tlvo parts" ( i 5 "2:30i

1 fi. (i) f .xpiain rvater lagging and its catlses. [rxplain

adversc effects of,u,ater logging. What are the

various methods adoptcci as,{nti tvatcr inggine

ff!eilsures.

{ii} LIsing Lace,v's theory', dt:sigh an inigatiori

ctrannel for the foliort'ing cii:ta:

D i schargc, Q:5 Om:'isr-c

I-ace1,''s silt factor, {L 1 . I

Trape zoidai section

Side slope-O.5h:1V
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i L. I)esi;rihc arl rxpr*ssion "ior thc ,vi*ld cf -rubc-weiis for

r}:e cilse r:i an Lil]*i.rilfinei aquiter trvo tube-lvells each

*f zpcm diarn*tsr iinil spaced at 100rn distance penetrate

fuily a c{-}rliined aqurler r;f Lzr*thickniss. calculate the

diseharge if eiia13,' rirle rveitr is discharging under a

dcpression head tl,f" 3m. what will be the percentage

.lecr*ffists in the ciisctr arge of the well it both the wells

ers ctischarging unrler ttre saffile depression head of 3m?

lake R:z50rn for cach well ancl k:60m/day.

ii) F*iioi\,ing arc tiie stonns hydrograph ordinates clf

ii ri.,,,r:i" clrairilrrf a catchment arca r-tl'425krrr2 due to

(rlir isolated storrn. derive the ordinate of a 6hr unit

hyclrograPtr for the catchment'

iin'ueiiiri ! -6 0 6 12 i-8 74 30 36 47

;;.' r'=ot[* 
__[ro

10 1113U 87.5 , il, e,& ic2 B6 7i 59

4B >{+ 60 66 72 78 84 90 96 L02

!+7 r+u 3Z 28 2i .l -,LI 15 T2 12 1"2

(ii) Design a conceate lined channel to carry a

clischarge of 200 cunlecs with bed slope of 1 in

4000. Thc side slope is 2I7:lV and manning's

coefficient. n:0.014. The limiti*g velociry in the

canal is 2mlsec-

t)
'l-utc
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